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EDUCATION
( Major )
Paper : 5.5
( Statistics in Education )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Fill in the blanks / Answer the following :

1x7=7
wers frapyRd A IR o[ 791 / T fir
fa) The measure of variability independent
of frequencies of the given distribution
is A

o7 o JREROR deRye fqpfed @M

34 RN
(b) The value of coefficient of correlation of
two variables varies between and

701 SOFIPR WEd TTTm BN T
e TES S 2 |
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(¢) In normal distribution, mean and tlo
includes % of total scores.

TeRe RIW o oF lo-94 P PR
% SFPE T |

(d) If mean is less than median, the
distribution is skewed.
TYISLF o FF 20 [Moadd RETer
EEl

fe) A student ranks 6th in a class of
40 students. Find out the PR of the
student in the class.

9T 40 & TS I O TR T TH A1S
IR0z | e T@ee[ PR 4T 941 |

(/) In a class of 19 students, 8 students
has failed in an examination. The marks
of the successful students are 41, 57,
61, 48, 56, 62, 75, 82, 72, 68 and 64.
Find out median mark of the class.
19 & TaS 90 i GBI *1=Fe 8 T Td
o 2 | FOIR (TEI TP TIPTR
¢z 41, 57, 61, 48,56,'62,'75, 82, 72,
68 IF 64. CANCOMA THIR T4 fiefy a1 |

(g) Why is histogram called continuous bar
graph?
erEas 4 wikve wefva Ifer @@ = 2
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2. Answer the following questions : 2x4=8
o] 2T e ford

{a) Mention two advantages of frequency
distribution table.

AR fForEH Sifererd o1 e Sy 40 |

(b) Distinguish between product-moment
correlation and rank-difference correla-
tion.

TR-CANTD RO WIE F -] TS
&S 1P (Y&l |

{0 In Group (A, N=40, M=20 and
SD=10 and in Group (B), N=60,
M= 10 and SD = 5. Find out combined
SD of Group (A) and (B).

(A) % N =40, M =20 5¥ SD = 10, &¥
(B) %@ N =60, M =10 &€ SD = 5. 7 (4)
¥ (B)I Y Te Rpfe T 41 |

(d) Write two important properties of a
normal probability curve.

Fofe RexT T 0 eved @1 I e
ferm
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3. Answer any three of the following questions :
5x3=15
wors faEl e R e ot Ted for

(a) What is meant by statistics? What are
the limitations of statistical measure-
ment? 2+3=5

sferan Rem i & @ AR
o] FaRaertz [ 2

(b) What is standard deviation? Why is
standard deviation regarded superior to
other measures of variability? Explain.

2+3=5

T Rpfe o Rpfes w@m caremzes
T Rpfes Rm Tege I Rev a1 =2
A

() What is meant by percentile point and
percentile rank? Illustrate their
difference with examples. 2+3=5

oy R we xerd wW e [ g e
TAERePTE 330 qEF A1 R 4 |
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(d) What 1is correlation? Ranking of

A
B
(e)
0
8A /227

10 students in two subjects A and B are
as follows :

o 7 10 &9 3@ 499 A 9 B-© =
T PR ©ere fEl 439

5 8 4 i 11(0) ] 1 6 9
4 9 5 2 10 3 1 8 7

Find out coefficient of correlation
between the marks of the subjects A
and B by rank-difference method. 1+4=5

FE-NLF Mmfed {59 A OF B F255d
Qe ey F41 1

Mention two advantages of graphical
presentation of data. How does a
histogram differ from a polygon?
Explain. 2+3=5

ETAbET T 82y IR 761 R S

I BT qRGER A <O HEeCHE [
52 7 ] 4 |

Explain the concept of Kurtosis by
drawing different types of Kurtosis.
Explain the nature of a curve with

Ku = 0-563. 4+1=5
RS oora $3m 399 foa W T T I
YIRENCHT IR0 47 | Ku = 0-563 T& 99& I&
S T 40 |
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4. What is mean? Find out mean of the
following distribution by ‘assumed mean
method’ : 2+8=10
T 7 e v A&fe’E R wieRR o[l TS
el a1 -

Class Interval | Frequency
IR wEaE RS
55-59 ‘ 4
50-54 8
4549 10
4044 12
35-39 i
30-34 8
25-29 6
20-24 3
15-19 2
N =60
Or / 41
What is quartile deviation? Find out quartile
deviation from the following table : 2+8=10

i fipfe oo R wfeE @ vedE Rpfe
ﬁ‘]‘ﬁw

Class Interval Frequency
e S 5Tl

90-99 4
80-89 , 7
70-79 ‘r 9
60-69 | 12
50-59 4
40-49 10
30-39 i 9
20-29 ; 5

| N =60
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5. What 1is product-moment correlation?
Calculate coefficient of correlation from the
following data by this method : 2+8=10

A’ TR-ACTT FTFR [F? TR ORI Rl 3
A&foCq ST BT fefy 41

6 8 12 15 18 20 . 24 28 3]
g e ] 12 15 11 18 25 228 268 D8

Or / 34T

In an examination, mean marks scored by
400 students is 45 with a standard deviation
of 15. Assuming the distribution to be
normal, find out the following : 5+5=10

(a) The number of students securing marks
between 30 and 60

(b) The limits of the marks of middle 50% of
the student

9Bl “RrFTe 400 @R A FN T T (T 45
I Tme Rpfs tzez 15. Fegaa e & «i[ =
were WIPTR Ay 41

(@) 30 F 60 F &S 759 ¢l TGT M

(b) CINER 50% @ 599 T
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6. Draw an ogive from the following distribution
table and find out median from it : 8+2=10

O] e OIfeeR 91 9Ol SEige S5 $4 S
TR o[ g [y 90

Class Interval Frequency
=l DRI O
| 60-64 3

55-59 5
50-54 4
4549 6
40-44 8
35-39 10
30-34 6
25-29 7
2024 1

N =50

Or / F231

What is skewness? Test the skewness of the
above distribution. 2+8=10

et & 9 @vie9 oifee Rawer 80 941 |
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8A—T7000/227 3 (Sem-5) EDN M 5



